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1 4R 19|80 |H&%& 2015 £E 3R#% He# 1,631,264 1,186,378/2018. 4H ~2019.3A K
HA&# 1,631,264 1,186,378

2| 4|8 21|18 | AV REMEE 2,115  50% 1,058

3| 5|8 118 |[AVIr£ AEARE 12,449  50% 6,225/4 A 5

4/ 5|8 19/8 |[AVUAE REMEE 1,000/ 50% 500

5/ 5|8 22|18 AV RAEHRE 2,716|  50% 1,358

6| 58 28|18 |HYUAR HEMRE 2,369  50% 1,185

71 6|8 38 |AVULK RAEHRE 1,000 50% 500

8| 6|8 58 |AvULR HEMRE 5725 50% 2,863/58 %

9 6|8 5|8 |AVULK AEHRE 2,832|  50% 1,416

10, 6|8 9B |AVIULR HEMRE 1,000  50% 500

11 6|8 19|18 |[AVUA RAEHRE 2,789  50% 1,395

12| 6|8 138 [AVULR HEMRE 2,876  50% 1,438

13| 6|8 25|83 |AVUR REARE 2,929  50% 1,465

14| 6|8 308 AV HEMERE 2,567 50% 1,284

15| 7|8 6|8 |HVULK REARE 2,333|  50% 1,167

16| 7/8B 9|8 |HAVULHK HEMERE 1,000  50% 500

17| 7|8 108 |[AVIr#E REARE 3262| 50% 1,631

18| 7|8 17/8 | AV HEMERE 3,352 50% 1,676

19| 7|8 21|18 | AV REARE 1,000 50% 500

200 7/A 258 |AVULK REMEE 1,000| 50% 500

21 7|8 26/ |AVUA REHRE 2,824  50% 1,412

22| 7|A 29|18 |AVULK REMEE 2,673|  50% 1,337

23| 8|A 318 |AVULK REHRE 2,854  50% 1,427

24|  8|A 8|8 |AVULK REMEE 2,869  50% 1,435

25| 8|A 17|18 |[AVIA REHRE 2,861  50% 1,431

26/ 8|A 23|18 |AVULK REMEE 2,658|  50% 1,329

27| 8|A 29|18 |AVULK REHRE 2,627|  50% 1,314




28| 9|A 318 |AVULK HEREE 2,537  50% 1,269
29| 9|A 718 |AVIK HEMARE 2,627|  50% 1,314
30 9/A 118 |[AVIA HEREE 2,699  50% 1,350
31 9|A 168 |[AVIR HERRE 2,652|  50% 1,326
32| 9|A 23|18 |AVUK HEMRE 3,136 50% 1,568
33 9|A 28|8 |AVULK HERRE 2,488  50% 1,244
34| 10|H 2|8 |AVUA HEMRE 2,732  50% 1,366
35| 10|H 98 |[HVIULRK HERRE 3016| 50% 1,508
36| 10|H 13|18 |[AVUAE HEMRE 2,576 50% 1,288
37| 10|H 22|18 |AVULK HERRE 1,000| 50% 500
38| 10|H 23|18 AV REMEE 2,753  50% 1,377
39| 11|A 118 | AVJoK HERARE 2,850|  50% 1,425
40| 11|H 6|8 |HVULR REMEE 3021 50% 1,511
41| 118 108 |[HVYs£t HERARE 2,751  50% 1,376
42| 11|H 16|8 |[AHVUAE REMEE 2,480  50% 1,240
43| 118 23|18 |AVULK HERARE 2,740  50% 1,370
44| 11|H 27|18 |AVUAR REMEE 2,325  50% 1,163
45| 12|8 118 | AVJoK HEMARE 2,683  50% 1,342
46| 12|B 6|8 |AVULR HEMRE 2,555  50% 1,278
47| 12|H 108 |AVUA HERARE 2,463|  50% 1,232
48| 12|B 16|88 [AVULR HEMRE 2,399  50% 1,200
49| 12|R 21|18 | AV HERARE 2,000/  50% 1,000
50 12/H 23|18 |HYUAR HEMRE 2,310  50% 1,155
51 12|8 27|18 |AVUK HERARE 2261  50% 1,131
52| 12|H 28|18 |HYUAR HEMRE 1,000  50% 500
53| 12|A 308 AV HERARE 2,419  50% 1,210
54/ 1|8 718 |AVIK HEMEE 2,419  50% 1,210
55 118 118 |[AVI2A RERERE 2,263  50% 1,132
56| 1A 168 |[AVUR HEMEE 1,000| 50% 500
57 1R 18|8 |AVIR RERERE 2,421 50% 1,211
58/ 1A 22|18 |AVULK HEMEE 2,629|  50% 1,315
59 1R 26|8 |AVUAR RERERE 1,000 50% 500
60| 1|8 28/8 |AVULK HEMEE 2,448  50% 1,224
61 2|8 118 |AY)oik RERERE 2,362  50% 1,181




62 2|8 718 |[AvU REMEE 2,578/  50% 1,289
63| 2|AR 12|18 |AVIUR HEMEE 2,592  50% 1,296
64 2|A 16|8 |AVIR HEMEE 2,130  50% 1,065
65| 2|A 21|18 | AVUoK REMEE 2,544|  50% 1,272
66 2|8 26|8 |AVUAR HEMEE 2,318|  50% 1,159
67| 3|A 38 |AVULK REMEE 2,491  50% 1,246
68 38 9|8 |HAVUR HEMEE 2,672|  50% 1,336
69| 3|A 14|18 |[AVIAR REMEE 2,200  50% 1,100
70 38 18|8 |AVIK HEMEE 2,698  50% 1,349
al 318 24|18 | AV REMEE 2,000|  50% 1,000
72 38 27|18 |AVUAK REMEE 2,129  50% 1,065
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BT,
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A IR £ oty TRt S 20000\ 100% 20000(1-11/19~ 20
81,980 81,980
80| 8|A 9|8 |Za—X{ERENL27 [REEILERE 214920| 97% 208,472 |A4 x 4P 10,0008 (H5—)
81| 11|A 12| B |Z2—X{EFEN28 [REEILERE 129,168|  95% 122,710|A4% 2 P 13,000&8 (H5—)
82| 2|A 6|8 |Za2—XEFENL.29 [LEEILERE 129,168  83% 107,209 |A4 X 2P 13,000&8(h5—)
473,256 438,391
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. HIUAREENIZEZFEAHRUS
= ZREX A % ~ 1S
83 9|A 1B |REmEERHS xR 2310)  50% 11552 9 /1246 10:00~12:00
= SREN D N % E%@Eﬁg%1 '%2§§@§1§Fﬁ*+&
84 9\A 1B REHEARSS R 2160) 50 1080/ 7538 Bslo, 146 13:30~16:00
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85| 4|8 3|8 |BEBEEEJIAMPESH BEHEAE 65,340 100% 65,340/2018. 4§ ~2018. 98
86| 9|8 21|8 |RFEBEJIAMPEGH EHEBAE 65,340 100% 65,340(2018.10 8 ~2019. 38
87 4|A 3|8 (T v N —sRlEEses BHBAE 22,680 100% 22,680/2018. 4~2019. 3H %
88| 12|A 5|8 |MEREBRIBESH EHEBAE 6,000 100% 6,000|2018. 4~2019. 38 %>
89| 4|A 38 |ZE& BEHEANE 1,242 100% 1242 TERDZEIE]




90| 4|A 18|8 |E£ BEHEANE 1,000/ 100% 1,000 |[Huig B RS 7ERIWLWE T
91 4 A 18| |E£ BEHBAE 1,400| 100% 1,400 [ EREIZZE AL -5F EE]
92 418 18|8 |E£ BHEAE 1,700 100% 1,700 Ef{%@é“}%h%”é@ﬁﬁwﬁmtﬁ
P . [ AT AMEH & (AN ITERHGEZ
93 58 13|80 |E5 BHEAE 2,916 100% 2,916 20
94| 5|8 15|0 |E% BHBEAE 1,500/ 100% 1,500 [ BF - [EEEDBILER]
95| 5|8 25|8 |EE EHBEAE 3,920/ 100% 3.920|[#&EFiEDDVD]
= 0 TARMYT ' BRFTALT RIS EHRSRE ]
9% 58 | 318 &8 BHBAR 562| 100% 2|y e iRE]
222 1 0 [E®%LO—LMDDRREER] [
97| 5|A 318 &£ BHBAR 5,400 100% 5,400 | s o ssm = £ 2 e B AT (DBIE ]
st 41 . [BEXREBROEH#ETE] =
98| 5|A 318 EF BHBAE 2,808| 100% 2.808| 1o S DA Bl
99| 11|8 26|80 |EE BEHEAE 3,456| 100% 3456 | [&EBE]
st 41 . [BERENFEHEENRITBEDOILET
100 18 23|8 |E# BHEBEAE 3,780 100% 3,780 7 B RO T E R
ERBEAER 189,044 189,044
101 4R 308 |EHBHEEH4A EHBME 70,000/ 50% 35,000
102 5/ A 31|18 |BHEEHSA EHKTE 70,000 50% 35,000
103 6/ A 308 |EHBHEER6A EHBME 70,000/ 50% 35,000
104 78 31|18 |BHBMEEHNTA EHKTE 70,000 50% 35,000
105 8 A 318 |EHBHEENSA EHBME 70,000/ 50% 35,000
106 9/ A 308 |EHBHESEHA EHKIE 70,000 50% 35,000




107| 10/H 3118 |EHBHMEER10A EHME 70,000 50% 35,000

108| 11|A 308 EHEEERNA EHKIE 70,000 50% 35,000

109| 12|H 31|18 |EHBMEER12A EHIE 70,000|  50% 35,000

110 118 31|18 |EHEEHA EHTE 70,000/ 50% 35,000

700,000 350,000
111 418 25|08 |EHEEA EHE 3,173|  33% 1,047/13,848M 340N
112 58 25|08 |EHEIE4A EKE 2,954  33% 975/13,989M 3 #h 0\
113 6/ A 25|08 |EHEESA EHE 2,966  33% 979|14,541 A LN
114 78 25|80 |EHEIE6H EKE 2,970  33% 980(14,545M % $h 0\
115 8|A8 27|18 |EHEETA E 2,989  33% 986 (14,564 L0\
116 9|8 25|80 |EHEESH EKE 3612 33% 1,192|15,187H X ALY
117 10|H 25| |EHEEIA EHE 2,771  33% 914/27,124M 30N
18| 11|B 26| |#EHEF10H ERE 2,754  33% 909(10,271H X $4LY
119| 12|B 25|80 |[EHEEI1AE E 2,992| 33% 987/10,509 x40y
120 3|8 25|08 |EHEE2H E%E 2,994  33% 988(12,757M X #h L\

EBE 30,175 9,957

=KE 30,175 9,957

a5t 4,021,856 2,531,179




